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NEW QUESTION 1
Refer to the exhibit.

def get_result()

url = "https://sandboxdnac.cisco.com/dna/system/fapi/vl/auth/token”
resp = requests.post{url, auth=HTTPBasicAuth{DNAC_USER, DNAC_PASSWORD))
result = resp.json()[" Token')

return result

What does the python function do?

A. It returns DNAC user and password.

B. It returns HTTP Basic Authentication.

C. It returns an authorization token.

D. It reads a token from a local JSON file and posts the token to the DNAC URL.

Answer: C

NEW QUESTION 2
What are two advantages of version control software? (Choose two.)

A. It supports tracking and comparison of changes in binary formate files.

B. It allows old versions of packaged applications to be hosted on the Internet
C. It provides wiki collaboration software for documentation.

D. It supports comparisons between revisions of source code files.

E. It allows new team members to access the current code and history.

Answer: DE

NEW QUESTION 3
Which two use cases are supported by Meraki APIs? (Choose two.)

A. Retrieve live streams from a Meraki Camera.

B. Build a custom Captive Portal for Mobile Apps.

C. Configure network devices via the Dashboard API.

D. Build location-aware apps from Wi-Fi and LoRaWAN devices.
E. Deploy applications onto the devices.

Answer: BC

NEW QUESTION 4
Fill in the blanks to complete the python script to request a service ticket using the APIC-EM rest API for the user “devnetuser”.

I_]"[]r]{_}[t r.ﬂllu_}ﬁ!s iy Lo o NSNUSIVICEE D Il;{“l LIsarg 1 AF T igell - M -I'{F 5
ImMport json
controller = ‘deswvrie tapl c1Isco com-

bnh o sandbox/apic em
i hitps /7 + controlier + “lapihaiticker il

payload { 'Usemame* * o

header - { Content lype' "applhc Aatron/json’ )

1
response —

'Password "IT1274 75380

postjur], data=json dumps{paybo:sd)

headers= [
I |50nN — rnResponse j=0n()

pnnt(r_json)

hickel r json| response” |[Mservice Ticket™)
prnt{tcket)

vty =F alse )

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Solution as below
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import requests
controller = ‘devnetap
=1 ' asco comvsandbox/
url = "https /7 + controller + ~apivaticket
payload = { 'usemame" ° |, ‘password' '371387657)

header = [ "Content ek ' &
response = Fm lpn!qm data—-json dumps(payload), \

headers= | . venty=Faise)
r __ﬁl!‘l = o)
mr= r J?L(WTMTM

NEW QUESTION 5
Refer to the exhibit.

Which two statement describe the configuration of the Ansible script is run? (Choose two.)

A. Traffic on port 0/2 and 0/3 is connected to port 0/6.

B. Traffic from ports 0/2 to 0/5 can flow on port 0/1 due to the trunk.

C. Traffic can flow between ports 0/2 to 0/5 due to the trunk on port 0/1.

D. GigabitEthernet0/2 and GigabitEthernet0/3 are access ports for VLAN 6.
E. GiabitEthernet0/1 is left unconfigured.

Answer: BD

NEW QUESTION 6
Refer to the exhibit.
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container sthernet { .

musy ~

-« 1¥: locatian™ |
descript ion
"An ethernst

cholce transmission-params |
cane auto |
Leaf auto-negotiate |
type emptly;
|
)
case manual |
lead duplex |
Lype enumeration |
enum “half~:
ernum “fuwll”";
i

leal fpeed 1

type smemeral lon |
enuam - 1EMET
enum '.H"'"-"h

enum " 1G0T ;
jigm - 18GhH " ;

ather Ihernet 4 e f1cC prams

— -

) interface must specify the Physical location of the sthernet hardwars,”:

What is represented in this YANG module?

A. interface management
B. topology

C.BGP

D. OpenFlow

Answer: A

NEW QUESTION 7
Refer to the exhibit.

#!/bin/bash

read ndir

while [ -d “$ndir” ]
do

cd $ndir

done

mkdir $ndir

What is the action of the Bash script that is shown?

A. The script waits until input is entere

B. If the directory exists, the script goes into it until there is no directory with the same name, then it creates a new directory.

C. The script goes into the directory called “$ndir” and makes a new directory called “$ndir”

D. The script waits unit input is entered, then it goes into the directory entered and creates a new directory with the same name.

E. For all directories in the current folde
F. The script goes into directory and makes a new directory.

Answer: A

NEW QUESTION 8
Refer to the exhibit.

Jmon atring = "eow

{
"reasarcher®™: i
"name"™: "Ford Perfect®,
"apecies™: "Betelgeusian™,
"relativex™: |
{
"names": "Zaphod Beeblebrox®™,
Poapecliea™: "Helalgeualan™
)
|
|
' ’ v ed () &
— )

Which python data structure does my_josn contain?
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A. List

B. Json
C. Map
D. Dict

Answer: D

NEW QUESTION 9
Refer to the exhibit.

HTTP REQUESsT

PARAMETERS
to
The beginning of the tmespan for the

data. The maximum lookback period is 37 days from today.

timespan
The timespan for which the information will be fetched, It specifying timespan, do not specity
parameter t0. The value must be in seconds and be less than or equal to 31 days. The dofault is 1

ffirvip il

¥

L &

i.com/api/ve”

"https:f/api.merak

pase_url =

base_url = “https://api »
network_id = "L-;;-zadgﬁgsgl:;:aki GO apL/ve’
api_key = “1098hadpfsiapsf8ahf8ohp”
requﬂﬂ'tﬂ.{item 1> (
<item 2> + "“/<item 3>/"
headers {
"X-Cisco-Meraki-API-Key":
"Content-Type"”: "<item 7>"

+ <item 4> + */<item 5>~,

“<item 6>",

Y.

davy.

perPage

The number of entries per paqge returned, Acceptable range is 3 - 1000, Dafault t2 10 |
startingAfter

A token used by tha server to indicate the stant of the page ( ften this i3 a timestamp or an 1D but it
is not imited 1o those INBl€ pairarmaeter should not be defined by client apphcations. The link for the '
£ ¢ last. prev, or next page (n tivis HTTP Link heboder shaula c1e fone (1

irst, . - :

andingBEfﬂrﬂ 1l i ihie ol i thiy page. Often this i3 a UMastamp ar an D bt it

A token used ! e ' v brer defined by client applications The link for the

= jitem

B>={"<item 9>":<item 10>})

Drag and drop the code from the left code from the left onto the item number on the right to complete the Meraki code to obtain a list of client which have used this

network.
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e e S RN Tl
pParams = I [ — =

—_— Sp— o = — [ <item - R
networ ks o 1 ' — = . B - — —

————— = <ttem 2. S
timespan - o l — N o — =

— s A = , tem 7 -

= | | | B

— 0]
|

tem 6

4P DL tion 150on

(1 o ALFR NS i ’ —
e ——— - E I i =

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-d,2-f,3-b,4-h,5-i,6-j,7-9,8-a,9-¢,10-¢

NEW QUESTION 10
When using the Bash shell, how it the output of the devnet command saved to a tile named “output.txt"?

A. devnet & output.txt
B. devnet > output.txt
C. devnet < output.txt
D. devnet | output.txt

Answer: B

NEW QUESTION 10

Fill in the blanks to complete the statement.

Cisco DNA provide the capability to send an HTTP request to the API endpoint https://DNA-c_API_ADDRESS/api/vi/network-device/ and receive the
network listin format.

C

ASO0 LINA Center provvdes 1he Capatuity W0 send an HI SII‘= ] J el Bo the AJ

hTtrt 2o S S DM > AP DR - . I 1 ' . i l tw.‘imr‘
mEsAapisviinetwork -device/ and recere the network I

E j ot

== I lest

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Solution below as
Ciscn DNA Center provides the capatudity

httpe: DNA - ADRT

In-,ﬁui.:nublill’kp! | I
ADDRFan 1 w ]

ng
IE‘JN j formmast

J requeest o the AP endpornt
Aetwork devioce/ and recenae the network Fk'ﬂrl" -

| st

NEW QUESTION 14
Which action resolves a 401 error in response to an HTTP GET that is issued to retrieve statement using RESTCONF on a CSR 1000V?
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A. Change the HTTP method to PUT.
B. Change the transport protocol to HTTPS.

C. Check the
D. Check the

Answer: D

MIMF types in the HTTP headers.
authentication credentials.

NEW QUESTION 15
Refer to the exhibit.

B
]

o B W

8

8

10
1d
12
13
14

15

hoste: ([ routar )]

gather facts: true
connection: local

tasks:
= ios_command
commands :
- show run

provider: “{{ router credantials )}”
register: config

- Copy:
content: "|{| config.stdout(0] }}"

dast: “stofansible/configs/command ({ router hostname )| . t=t
16 i

What is the effect of this Ansible playbook on an 10S router?

A. A new running configuration is pushed to the 10S router.

B. The curren
C. The start-u

t running configuration of the 10S router is backed up.
p configuration of the 10S router is copied to a local folder.

D. A new start-up configuration is copied to the I0S router.

Answer: B
NEW QUEST
Which CI/CD
A. Nagios

B. Gradle

C. Jenkins

D. Git

Answer: C

NEW QUEST

ION 17
tool is an automation tool used to build, test, and deploy software?

ION 21

Which type of HTTP method is used by the Meraki nad webex teams APIs to send webhook notifications?

A.HTTP GET

B. HTTP PUT

C. HTTP HEAD
D. HTTP POST

Answer: D

NEW QUEST

ION 26

A function my_func() returns True when it executes normally. Which python snippet tests my_func()?

def test_ func(self):

Balf.asaertTrua{my_func{]]

def test_ func(self):

self-assertﬂaisea(my_func[]}

de

f test func(self):
self.assertEqual(my func(),

r{true}’)

de

f test func(self)
self.assertFalse(my func())

|
|
|
|

A. Option A
B. Option B
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C. Option C
D. Option D

Answer: B

NEW QUESTION 30

An automation script fails to connect to an internal server exactly 1 out of 2 times it is executed. This behavior is seen from different clients. Which networking

device mut be at fault?

A. Laptop on which the scripted is running

B. Router
C. Switch
D. Load balancer

Answer: D

NEW QUESTION 31
Refer to the exhibit.

——ﬁ

bash-3.2¢ curl LW ®
= Content-Type: 11 "
A - Fi2zzykEa0911c96K2{8L application/json™ -M “Authorization: Bearer
TE1Hk IH6oRH
Hnrn—zngn_mnt_g,ngm L e {mxﬂmwumnmwmtn—
B — \ Y29eKS35)ELKNOS rC7SwQSZGLI9pHg 1uScB7DNVUS T BXx WKL 1PORCEK FyANM30SKILOZEPOGEL™
e \UText\™: \“test2\" }* -X POST https:
pPs://apil.ciscospark.com/vi/messages
™
C
D HTTP/1.1 200 0K
Via: 1.1 linkerd
Transfer—-Encoding: chunked
TrackingID: ROUTER_SEOFE283-63EB-21BB-2RED-B86BF 1BDBGED
E Date: Sat, 81 Jan 2028 88:55:31 GMT
Server: Redacted
Content-Type: application/)json;charset=UIF-&
i : Accept—-Encoding = 2
:::Tct Tra:upﬂrt Security: max-age=63072000; includeSubDomsains; preload
{**4ig* =" 2 deEdenPT LAVansH Tl MG 7 ) D TWX0L AIPunl? IuuTldoxXgl
YCpJT }.':'.'EI'JVHHI:':?"'-<! NKkKcghNSt lExdcDd . ok
T i | | PP e F ¥ I."": b "j:_ ..u‘ L O ":‘“I
”J”rl-'lul--'d : ) e L 99pHg LuScBTDTNY i xdwDEL APORCE y A QmiK -
y2gek53s JELknosr 3 test personld’ b0 § LF cMy y Swi
F = = II-,‘-',[."' v ]'I'l'.-l- ¥ .|-:r } Ir.- .-l a ki vk . o '-.-‘ i s -r1' oppt ll_l LT ¥
YraoYzZzLbX Ty WE 1A Kwig T K il | : _' P 18, a B1TaB: 59 & i
! ey T T, el # L) '
s al
ch=3.2%
bash

Drag and drop the descriptors from the left onto the correct parts of the API request and response on the right.
Hesponse Headais - 1
e i _ | l
HIT‘-‘ Hﬂauﬂr i D
=== T — —n — ]
HTTP Response i . o |
,_.—-—_— — —— e — N
Reguest pPavioard
peguest Headers
I B RespOnse pavload
A. Mastered

B. Not Mastered

Answer: A

Explanation:

A-E,B-D,C-B,D-C,E-AF-F

NEW QUESTION 33

Which two statements are true about Cisco UCS manager, Cisco Intersight APIs? (Choose two.)

A. Cisco Intersight API interactions can be encoded in XML or JSON and require an APIs key in the HTTP header for authentication.

B. USC Director API interactions can be XML- or JSON-encoded and require an APLs key in the HTTP header for authentication.
C. UCS manager APl interactions are XML-encoded and require a cookie in the method for authentication.
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D. Cisco Intersight uses XML to encoded API interactions and requires an API key pair for authentication.

E. UCS manager uses JSON to encode API interactions and utilizes Base64-encoded credentials in the HTTP header for authentication.

Answer: BC

NEW QUESTION 35
Which two types of NAT are used in a network? (Choose two.)

A. Static NAT

B. Normal NAT
C. Multicast NAT
D. Dynamic NAT
E. Router NAT

Answer: AD

NEW QUESTION 40

A developer is reviewing a code that was written by a colleague. It runs fine, but there are many lines of code to do a seemingly simple task repeatedly. Which

action organizes the code?

A. Refactor the code by removing any unnecessary tests

B. Using functions, rewrite any pieces of code that are repeated
C. Reverse engineer and rewrite the code logic

D. Modify the code to use loops

Answer: B

NEW QUESTION 44
Refer to the exhibit.

cluss ucsmsdk.ucshandle. UcsHandle(ip, username, password, port=None,
secure=None, proxy=None)

Bases: ucsmsdk.ucssession.UcsSession

Parameters: < ip (str) — The 1P or Hostname of the UCS Server
Server
Server

e port (int or None) - The port number to be used during

connectnon

|source]

UcsHandle class is the user interface point for any Ucs related communication.

s username (str) - The username as configured on the UCS

« password (sfr) - The password as configured on the UCS

s secure (bool or Nong) = Trnie 1or Secure « onnection, otherwise
False
= Proxy (sfr) — The proxy ohiect to be used 1o connect

Given the API documentation for the UCS SDK python class, UcsHandle, which code snippet creates a handle instance?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 46
Which two statement describe the role of an artifact repository in a CI/CD pipeline? (Choose two.)

A. An artifact repository allows to compare and merge changes in the source code of files involved in a build process.

B. An artifact repository is needed only for CI/CD pipeline executed on a public cloud infrastructure.
C. An artifact repository provides traceability, search, and management of binary files.

D. An artifact repository is needed only for managing open source software.

E. An artifact repository stores files needed and generated during the build process.

Answer: CE

NEW QUESTION 50
What are two characteristics of Bare Metal environments that are related to application deployment? (Choose two.)

A. Provide the hypervisor to host virtual servers

B. Specifically designed for container-based workloads.

C. Provides workloads with access to hardware features

D. Suitable for legacy application that do not support virtualization

E. Not compatible with other cloud services such as PaaS or SaaS offerings.

Answer: CD

NEW QUESTION 55

Which task is performed because the test-driven development approach is being used?
A. testing existing software before developing new code

B. refactoring code that is covered by existing tests

C. writing code without committing any coding violations

D. creating test scenarios based on continuous development

Answer: B

NEW QUESTION 58

Which Cisco DevNet resource allows access to products in a development lab to explore, learn, and build application that use Cisco APLs?

A. DevNet communities
B. DevNet code Exchange
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C. DevNet Automation Exchange
D. DevNet sandbox

Answer: D

NEW QUESTION 59
What is the purpose of a MAC address?

A. To uniquely identify a router in a LAN

B. To uniquely identify a network interface in a LAN
C. To uniquely identify a device on the internet

D. To uniquely identify a switch in a LAN

Answer: B

NEW QUESTION 60
Drag and drop the element of the Finesse API on the left onto the description of its functionally on the right.

User Represents a skill group in Unified CCE.
Dialog Represents the current state of the system.
3 Represents an agent, supervisor
Media or administrator.
Queue Represents a group of users.
T Represents a call and the participants
eam if the media type is voice.
Sends client-side logging
Systeminfo to the Finesse Server.
I Represents a user's state in a non-voice
ClientLogs Media Routing Domain.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-D,2-F,3-A,4-E,5-B,6-G,7-C

NEW QUESTION 62
Which model-driven programmability protocol does Cisco IOS XE Software support?

A. CORBA
B. SSH

C. gNMI
D. SOAP

Answer: C

NEW QUESTION 64
Fill in the blanks to complete the cURL command that invokes a RESTful API to retrieve a resource in JSON format using OAuth.

curl 4 l I n "~ ; applicetio: —

curl =X -H* . application/json” \
-H* : Bearer AbCdEf123456” https://localhost/api/myresource
A. Mastered

B. Not Mastered

Answer: A

Explanation:

See the solution below.

carl b4 k?‘er ] 1 H " P\C{l""_ﬂ I: application/jeson™ \
-1 = hutiuulhﬂhl'i !: Bearer AbLCAEf123456" https://localhost/apl/myresourcs
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NEW QUESTION 67
Refer to the exhibit.

#!/bin/bash
<item 1>='date +%b-%d-%y’

<item 2>=/home/usr/path/backup-$BACKUPTIME.tar.gz
<item 3>=/home/usr/path/data folder

tar —-cpzf $DESTINATION $SOURCEFOLDER

Drag and drop the variables from the left onto the item numbers on the right that match the missing assignments in the exhibit.

BACKUPTIME <item 1>
SOURCEFOLDER <item 2>
DESTINATION <item 3>

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-A,2-C,3-B

NEW QUESTION 69
Which mechanism is used to consume a RESTful API design when large amounts of data are returned?

A. Data sets
B. Scrolling
C. Blobs

D. Pagination

Answer: D

NEW QUESTION 74
Which two descriptions can be given to an application that is interacting with a webhook? (Choose two.)

A. Processor

B. Codec

C. Listener

D. Receiver

E. Transaction monitor

Answer: CD

NEW QUESTION 77
Refer to the exhibit.

%-

>>> ‘Ifrnm cli import =
=>> 1mport json

>>> cli('configure terminal : interface loopback 5 : no shut')

>>> intflist=json.loads(clid('show interface brief'))
>>> =0

===> while i = len {intfli-s‘rl'Thﬁl.E_interface']_['RDHJnTerface‘]};
W intf:intfhatl'TnBLE_interface'I['F{Dw_mter*face ] [1]
- i=i+1 |

if intf['state’'] == "up :

print intf [*interface’]

The python interpreter and the Cisco python SDK are available by default in the Cisco NX-OS software. The SDK documentation shows how the cild() API can be
used when working with working with JSON and XML. What are two effect of running the script? (Choose two.)
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. configure interlace loopback 5

. issue shutdown on interface loopback 5

. show only the interfaces In the up status

. show only the interfaces in admin shut status
. show details for the TABLE interface

mooOw>»

Answer: AC

NEW QUESTION 80
Which two statements about JSON and XML are true? (Choose two.)

A. JSON objects arc collection of key value paire.

B. The syntax of JSON contains tags, elements, and attributes.
C. JSON arrays are an unordered set of key value pairs.

D. The syntax of XML contains tags, elements, and attributes.
E. XML objects are collections of key-value pairs.

Answer: AD

NEW QUESTION 84
Which statement describes the benefit of using functions in programming?

A. Functions allow problems to be split into simpler, smaller groups, and reduce code repetition, which makes the code easier to read.
B. Functions ensure that a developer understands the inner logic contained before using them as part of a script or application.

C. Functions create the implementation of secret and encrypted algorithms.

D. Functions store mutable values within a script 01 application.

Answer: A

NEW QUESTION 88
Which two elements are foundational principles of DevOps? (Choose two.)

A. designing applications as microservices

B. encouraging containers for the deployment of applications
C. organizing cross-functional teams over organizational silos
D. optimizing the cost of infrastructures

E. automating over documenting

Answer: CE

NEW QUESTION 89
Refer to the exhibit.

§ pyang -f tree Cisco-I0S-XE-native.yang
module: Cisco-I0S-XE-native
+=-IW native
+=--IW logging
+==rw monitor|
#==-rv severity? logging-level-type

§ ourl --insecurs -v =X PATCH \
*https://ios-xe-ngmt-latest.cisco.com: 5443/ pestoont /data/Cisco-108-XE-native :native”™
=B ‘Authorization: Basic IGVZINMxvoGVyOLMEEINVNTIINDU=' -E ‘Accept: application/yang-datas+jsom’
-H ‘Content-Type: application/yang-datasison’
=d *'{ “Cisco-IOS-XE-pative:nativer ; ( “logging” : ( “momitor™ : ( "sewerity” : “alerts” }} ) |’
-
LA
< HTTF/1.1 204 Wo Contant

The definition of the YANG module and a RESTCONF query sent to a Cisco 10c XE device is shown. Which statement is correct if the RESTCONF interface
responds with a 204 status code?

A. The query failed at retrieving the logging seventy level.

B. The query failed to set the logging seventy level due to an invalid path.

C. The query retrieved the logging seventy level.

D. The query updated the logging seventy level or created it if not present on the device.

Answer: D

NEW QUESTION 90

What is the purpose of the Cisco VIRL software tool?

A. To verify configurations against compliance standards
B. To simulate and model networks

C. To automate API workflows

D. To test performance of an application

Answer: B
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NEW QUESTION 95
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